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Name ______________________________

1.  Assume that in 1998, Welch Honey Inc. had a target EVA of $3 million and an actual EVA of $5 million.  Assume also that Welch Honey had an actual EVA of $6 million in 1999.  Finally, assume that Welch Honey expects their EVA in 2000 to equal $8 million.  If Welch Honey uses Harnischfeger’s self-adjusting approach to setting EVA targets, what will be Welch Honey’s target EVA for 2000?

2.  What is the primary goal when establishing contracts to help resolve agency problems?

3.  Suppose that Gore Sinks Inc. has assets with a current market value of $35 million and outstanding debt that matures 8 years from today for $40 million.  The standard deviation of returns on the firm’s assets equals 46%.  Gore is considering undertaking a new project that would require an investment of $10 million and would have a net present value of $1 million.  The new project would be funded with $4 million of cash and $6 million raised by issuing common stock.  Assume you wish to value Gore Sinks stock after the new project is undertaken by viewing the stock as a call on Gore’s assets.  What would you enter for V0?

4.  List two types of costs associated with resolving agency conflicts that are related to financial contracting.

5.  Your boss has asked you to calculate the payback period for a project being analyzed. What has he asked you to determine?

6. Which of the capital budgeting decision rules we have discussed suffers from being difficult to use when comparing projects with different risks and from being difficult to use if the required return is not constant across time?

7.  Nader Wins It All Inc. is considering building a new Green Factory.  Sales from the new factory will equal $600,000 per year and the cost of goods sold associated with these sales will equal $400,000 per year.  If Nader’s tax rate is 35%, how will this information regarding building the new factory affect Nader’s incremental cash flows 2 years from today?  (Note:  use + to indicate an increase in cash flows and a – to indicate a decrease in cash flow).
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8.  In year 1 of the operation of the factory in question 7, accounts receivable will equal $100,000 and accounts payable will equal $80,000.  In year 2, accounts receivable will grow to $120,000 and accounts payable will grow to $90,000.  If Nader’s tax rate is 35%, how will this information regarding building the new factory affect Nader’s incremental cash flows 2 years from today?  (Note:  use + to indicate an increase in cash flows and a – to indicate a decrease in cash flow).

9.  What does the breakeven analysis we discussed in this class determine?

10.  ATT EverSplit Inc. is trying to decide whether to continue to operate one of its factories or sell it for $15 million.  If the ATT continues to operate the factory, ATT estimates that there is a 20% chance that the factory will generate $4 million per year in net cash flows and an 80% chance that the factory will generate $1 million per year in net cash flows.  Sketch a decision tree (but do no calculations) on the basis of this information.

